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Question Number : 1 Question Id : 68019112046 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Gross Primary Deficit can be caleulated by which of the following equation?

1. Net borrowings at home +Borrowing from RBI+Borrowing from abroad+Net Interest liabilities
2. Net borrowings at home +Borrowing from RBI+Borrowing from abroad-Net Interest

liabilities

3. Total expenditure-(revenue receipts+Non debt creating capital receipts)

4. Net borrowings at home +Borrowing from RBI-Borrowing from abroad-Net Interest

liabilities
Options :
68019147501. 1
68019147502. 2
68019147503. 3

68019147504. 4

Question Number : 1 Question Id : 68019112046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68019147501. 1
68019147502. 2
68019147503. 3

68019147504. 4

Question Number : 2 Question Id : 68019112047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aggregate demand for final goods in a three sector model consists of which of the following?

1. ex ante consumption.ex ante investment only

2. ex ante mvestment.expost consumption.government spending etc.
3. ex ante consumption.expost investment.government spending ete.
4, ex ante consumption.ex ante investment,government spending ete.

Options :

68019147505. 1
68019147506. 2
68019147507. 3

68019147508. 4

Question Number : 2 Question Id : 68019112047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147505. 1
68019147506. 2
68019147507. 3
68019147508. 4

Question Number : 3 Question Id : 68019112048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Demonetisation was a new intiative taken by Government of India. Arrange following in proper
sequence/chronology:

(A). Demonetisation was announced in November 2016

(B). To tackle the problem of of corruption.black money terrorism and circulation of fake
currency

(C). New currency notes in the denomination of Rs 500 and Rs2.000 were launched

(D). Old currency notes of Rs.500 and Rs.1.000 were no longer legal tender

Choose the correct answer from the options given below:

Options :

68019147509. 1
68019147510. 2
68019147511.3
68019147512. 4

Question Number : 3 Question Id : 68019112048 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147509. 1
68019147510. 2
68019147511. 3
68019147512. 4

Question Number : 4 Question Id : 68019112049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RBI publishes figures for alternative measures of money supply. They are defined as:
(A)M1=CU +DD

(B).M2 =M1 + Savings deposits with Post office, savings banks

(C).M4 =M3 + Total deposits with Post savings organisations (excluding National Savings
Certificates)

(D). M4 = M3 + Total deposits with Post savings organisations (including National Savings
Certificates)

Choose the correet answer from the options given below:

B) and (C) only.
.(A). (B) and (D) only.
A). (B) and (C) only
A)and (D) only.
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Options :

68019147513. 1

68019147514. 2



68019147515. 3
68019147516. 4

Question Number : 4 Question Id : 68019112049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147513. 1
68019147514. 2
68019147515. 3

68019147516. 4

Question Number : 5 Question Id : 68019112050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not the feature of Indifference Curve.

1. Two indifference curves never mntersect each other.

2. Lower Indifference curve gives greater level of utility.

. Indifference curve slopes downwards from left to right.
4. Higher Indifference curve gives greater level of utility.

L]

Options :

68019147517.1



68019147518. 2
68019147519. 3

68019147520. 4

Question Number : 5 Question Id : 68019112050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147517.1
68019147518. 2
68019147519. 3
68019147520. 4

Question Number : 6 Question Id : 68019112051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-II

LISTI LISTII
A |Equilibirum of a monoply firm is L krdls E_G PRy
supply
B Demand curve faced by the firm 1 MR =MC and MC
" lunder monopolistic competition " |is nising
C Imposition of price ceiling below the I 1s not perfectly
" |equilibirum price " |elastic
Imposition of price floor above the - lleads to an excess
D. e : IV.
equilibirum price demand

Choose the correct answer from the options given below:

- (A) - (D). (B) - (IIT). (C) - (I). (D) - (IV)
. (A) - (D). (B) - (II). (C) - (IV). (D) - (I)
. (A) - (III). (B) - (II). (C) - (IV). (D) - (I)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

g b —

Options :

68019147521. 1
68019147522. 2
68019147523. 3

68019147524. 4

Question Number : 6 Question Id : 68019112051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (D). (B) - (IIT). (C) - (I). (D) - (IV)
2. (A) - (IT). (B) - (). (C) - (V). (D) - (I)
3.(A) - (I, (B) - (D). (C) - AV). (D) - (I)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019147521. 1
68019147522. 2
68019147523.3
68019147524. 4

Question Number : 7 Question Id : 68019112052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Negative slope of the demand can be explained in terms of that come into play
when the price of a commodity changes.

1. Marginal effect

2. Income effect only

3. Substitution effect only

4. Substitution effect and Income effect

Options :

68019147525. 1
68019147526. 2
68019147527. 3

68019147528. 4



Question Number : 7 Question Id : 68019112052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019147525. 1
68019147526. 2
68019147527. 3

68019147528. 4

Question Number : 8 Question Id : 68019112053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Select incorrect statements regarding Infrastructure :

(A) Network of physical facilities and public services and with this social infrastructure 1s
equally important to support it

(B).Transportation and communication are included in infrastructure

(C)Network of physical facilities only

(D).Needs to be upgraded from time to time to maintain high economic growth rate
Choose the correet answer from the options given below:

C)

B) and (D) only.
3. (A). and (D) only
4. (A) only.

Options:
68019147529. 1
68019147530. 2

68019147531. 3



68019147532. 4

Question Number : 8 Question Id : 68019112053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147529. 1
68019147530. 2
68019147531.3

68019147532. 4

Question Number : 9 Question Id : 68019112054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-II

LISTI LISTII
To promote the efficiency of local
A |Globalisation [. |industries and adoption of modemn
technologies
B. |Dismnvestment II. |Related with tax reforms

Privatisation of the public sector
C. |Fiscal policy II1. |enterprises by selling off part of the
equity of PSES

Outcome of the zet of various
Trade and Investment

D. Dolis Boforms IV |policies th;‘r are auzilecl at
: transforming the World

Choose the correct answer from the options given below:

1. (A) - (D). (B) - (I). (C) - (II1). (D) - (IV)
2.(A)-(IV),(B) - (). (C) - (I1). (D) - (I)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (IIT)

4. (A) - (II). (B) - (IV). (C) - (). (D) - (II)
Options :
68019147533. 1
68019147534. 2
68019147535. 3
68019147536. 4

Question Number : 9 Question Id : 68019112054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (IV). (B) - (ITT). (C) - (IT). (D) - (I)
3.(A) - ({@). (B) - (I). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019147533. 1
68019147534. 2
68019147535. 3
68019147536. 4

Question Number : 10 Question Id : 68019112055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange following in proper sequence in the context of Govermment Budget:

(A).Capital Receipts

(B).Total Expenditure

(C).Non debt Receipts

(D).Revenue deficit

Choose the correct answer from the options given below:

1. (A). (C). (B). (D)
2. (A), (B). (C). (D)
3. (D). (A). (C). (B)
4.(C). (B). (D). (A)

Options :

68019147537. 1



68019147538. 2
68019147539. 3

68019147540. 4

Question Number : 10 Question Id : 68019112055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019147537. 1
68019147538. 2
68019147539. 3

68019147540. 4

Question Number : 11 Question Id : 68019112056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Calculate price elasticity of supply from the following information:

1ice of books quantity of books purchased and sold
old price:P = 100 old quantity:() = 2000
inew price:P =300 mew quantity:Q = 10000
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4.
Options :
68019147541. 1
68019147542. 2
68019147543.3

68019147544. 4

Question Number : 11 Question Id : 68019112056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019147541. 1
68019147542. 2
68019147543. 3

68019147544. 4

Question Number : 12 Question Id : 68019112057 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Development that meets the need of the present generation without compromising the ability of
the future generation to meet their own needs 1s known as:

1. Inter generational development
2. Future development

3. Sustamable Development

4. Balanced development

Options :

68019147545. 1
68019147546. 2
68019147547.3

68019147548. 4

Question Number : 12 Question Id : 68019112057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"I B iG] BT ST TRl Bl U1 R DI & § A [0 {971 aaidr igl 31
SRIT FYF 1§ 5T GYRUN TR USHTE STl W1 381 § 39HT 11 Fargu|
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Options :

68019147545. 1
68019147546. 2
68019147547. 3
68019147548. 4

Question Number : 13 Question Id : 68019112058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

When a proportional increase in all inputs results in an increase i output by a larger
proportion.the production function 1s said to display

. constant returns to scale

. increasing returns to scale
3. decreasing returns to scale
4. producing returns to scale

- ==

Options :

68019147549. 1
68019147550. 2
68019147551. 3
68019147552. 4

Question Number : 13 Question Id : 68019112058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019147549. 1
68019147550. 2
68019147551. 3

68019147552. 4

Question Number : 14 Question Id : 68019112059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In Harappan Civilisation evidence of ploughed ficld was found at

. Harappa

. Kalibangan
3. Amri

4. Dholavira

Options :

I =

68019147553. 1
68019147554. 2
68019147555. 3

68019147556. 4

Question Number : 14 Question Id : 68019112059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:
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68019147553. 1
68019147554. 2
68019147555. 3

68019147556. 4

Question Number : 15 Question Id : 68019112060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In Sangam literature the term Uzhavar was used for

. Landowner
. Village

3. Ploughmen
4. Landlord

Options :

I =

68019147557. 1
68019147558. 2
68019147559. 3

68019147560. 4

Question Number : 15 Question Id : 68019112060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3. S[dTg A ard

4, SHIGR
Options:
68019147557 1
68019147558. 2
68019147559 3

68019147560. 4

Question Number : 16 Question Id : 68019112061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The script used 1 most Asokan inscription 1s

1. Aramaic

2. Devanagari
3. Brahmi

4. Kharostlu

Options :

68019147561. 1
68019147562. 2
68019147563. 3

68019147564. 4

Question Number : 16 Question Id : 68019112061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MNP & SR Rreeal § 39T & o aral ey gl

1. 3RTHE
Gt
3. SiTedl

4.

| ]

i

Options :

68019147561. 1
68019147562. 2
68019147563. 3
68019147564. 4

Question Number : 17 Question Id : 68019112062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Earliest inscriptional evidence of land grants came from

. Satavahana Dynasty
. Gupta Dynasty

. Maurya Dynasty

4. Haryanka Dynasty

| I

L]

Options :

68019147565. 1
68019147566. 2
68019147567. 3

68019147568. 4

Question Number : 17 Question Id : 68019112062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. 4P oW
Options :
68019147565. 1
68019147566. 2
68019147567. 3

68019147568. 4

Question Number : 18 Question Id : 68019112063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



V.S Sukthankar who prepared the critical edition of Mahabharata was a noted

1. Musician
2. Director
3. Pamnter

4. Sanskritist

Options :

68019147569. 1
68019147570. 2
68019147571.3

68019147572. 4

Question Number : 18 Question Id : 68019112063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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4 FPH
Options :

68019147569. 1
68019147570. 2
68019147571.3
68019147572. 4

Question Number : 19 Question Id : 68019112064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-II

LISTI LISTII
A | The Peaszant and the Ray [ I5SN. Sen
B. |Theories of the Indian Mutiny [1. |5.B. Choudhari
C. |1857 III. |Eric Stokes
D |The Sepoy Mutiny and the Revolt of 1857 IV. |E.C Majumdar

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (II). (C) - (IT). (D) - (IV)
2. (A) - (I). (B) - (IT). (C) - (II). (D) - (IV)
3. (A)-(I). (B) - (IT). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (I). (C) - (I). (D) - (IV)

Options :

68019147573. 1
68019147574. 2
68019147575. 3

68019147576. 4

Question Number : 19 Question Id : 68019112064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

=l 1 1 =l 11 9 fiar ifey
Gl TE 1

A [cUiSic TSI I |Tg o 3
B. | RIS 3B & $ST- ieH 1L |g9. o s
C. |1857 I11. [T wed
p, |& Riaig mgfei s € Ralee 8 e [FRH

1857 HaHGR
A= feu e faeedl o 9 get 3w I

1. (A) - (I). (B) - (I). (C) - (II). (D) - (IV)
2. (A) - (I). (B) - (II). (C) - (II). (D) - (IV)
3. (A) - (I). (B) - (I). (C) - (IV), (D) - (IIT)
4. (A) - (III). (B) - (II). (C) - (I). (D) - (IV)

Options:

68019147573. 1



68019147574. 2
68019147575. 3

68019147576. 4

Question Number : 20 Question Id : 68019112065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-T with List-II

LISTI LISTII
I( Place of Revolt of 1857) (Leaders)
A |Faizabad I. |5hah Mal
B. |Barout II. |Maulvi Ahmadullah Shah
C. |Awadh III. |Nana Sahib
D. |Kanpur IV, |Binis Qadr

Choose the correct answer from the options given below:

(A) - (1. (B) - (). (C) - (IIT). (D) - (IV)
. (A) - (D). (B) - (I). (C) - (IV). (D) - (III)
(A) - (D). (B) - (D). (C) - (IV). (D) - (1)
. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

fas b2 —

e

Options:

68019147577. 1
68019147578. 2
68019147579. 3
68019147580. 4

Question Number : 20 Question Id : 68019112065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! 11 i 11 F e wifore

g 1 I
SCEE AC AR ARSI C) B (GG
A |omEg I |=me 7
B |&id 11 [dieidt sfgagea 28
C |3@y 111 |1 918d
D |[FFR IV [feelTd g
- feu e fdsed & 9§ el SR I |

1. (A) - (). (B) - (II). (C) - (III). (D) - (IV)
2. (A)-(I). (B) - (I). (C) - (IV). (D) - (II)
(A) - (D). (B) - (D). (C) - (IV). (D) - (IIT)
. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)

e s

Options :

68019147577. 1
68019147578. 2
68019147579. 3
68019147580. 4

Question Number : 21 Question Id : 68019112066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During Medieval period the term Pahi -Kashta was used for

1. Peasants who were residents of the village in which they held their land

2. Non-resident cultivators who belonged to some other village .but cultivated lands
elsewhere on a contractual basis

3. Artisan

4. Big land owner

Options :

68019147581. 1
68019147582. 2
68019147583. 3
68019147584. 4



Question Number : 21 Question Id : 68019112066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hegoplei Y T Ug1-1Rd Wsd BT SYN & 70 foouT ST |

1. T 51t 39 g & ot 4 &gt 3! 5 ot ﬂ

2. TR-Fart pue o ol 3 7ifa o 9, A sFfaY & SR W g 3R Hff R Ed!
Y

3. BRIR

4. 96 WHIGR

Options :

68019147581. 1
68019147582. 2
68019147583. 3

68019147584. 4

Question Number : 22 Question Id : 68019112067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Hampi name was derived from ---------

1. Local mother goddess
2. Local ruling class

3. Local merchant class

4, Local musician class

Options :

68019147585. 1
68019147586. 2
68019147587. 3

68019147588. 4

Question Number : 22 Question Id : 68019112067 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i8] [ B 3 fergm man i

1. 11T g1 <al

2. QY 9E® Tt
3. QY AR arf
4. R GiffaeR arf

Options :
68019147585. 1
68019147586. 2

68019147587. 3

68019147588. 4

Question Number : 23 Question Id : 68019112068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following travellers in order of their coming to India (chronologically)
(A).Nikitin

(B).Duarte Barbosa

(C).Monserrate

(D).Peter Mandi

Choose the correct answer from the options given below:

1. (A). (B). (C). (D)
2. (A), (C). (B). (D)
3. (B). (A). (D). ()
4. (C). (B). (D). (A)

Options:

68019147589. 1
68019147590. 2
68019147591. 3
68019147592. 4

Question Number : 23 Question Id : 68019112068 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

rafeed fadxit a1al 1 31 HRd 311 & HIAB U IR Haiyd HIid-
(A) fAfefaa

(B) AT TRAM

(C) HIFIRIC

(D) Yiex Het

- fau e fasedi 4 8 981 ST |

1. (A). (B). (C). (D)
2. (A). (Q). (B). (D)
3. (B). (A). (D). (C)
4. (C). (B). (D). (A)

Options :

68019147589. 1
68019147590. 2
68019147591. 3

68019147592. 4

Question Number : 24 Question Id : 68019112069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronological order

(A).Cabinet Mission announces its constitutional scheme
(B).Labour Goverment comes in power in Britain
(C).Constituent Assembly begins its sessions
(D).Congress forms Interim Government

Choose the correct answer from the options given below:

1. (A). (B). (C). (D)
2.(A), (C), (B). (D)
.(B). (A). (D). (C)
.(C). (B). (D). (A)

e T

Options:

68019147593. 1
68019147594. 2
68019147595. 3
68019147596. 4



Question Number : 24 Question Id : 68019112069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafced o STArPHITER P § ogafeyd &3

(A) Bfa-e e = o=t Saenfad g &1 9y &t
B) e i dR Ul P RER gar § s

(C) AU FUT = 30T 91 L= fobar

(D) DY = JdRH THR BT T34 fdbar

= feu U faeedl o 9 gel 3w |

_(A). (B). (C). (D)
(A). (C). (B). (D)
.(B). (A). (D). (C)
(C). (B). (D). (A)

| R

P

Options :

68019147593. 1
68019147594. 2
68019147595. 3

68019147596. 4

Question Number : 25 Question Id : 68019112070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who 1s the author of the book "Levaithan'?

1. Hobbes
2. Locke

3. Rouseaun
4. Rawls

Options:

68019147597. 1
68019147598. 2
68019147599. 3

68019147600. 4



Question Number : 25 Question Id : 68019112070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU JEID & D DI 57

1. 8leq

ll Al

3.4l

4. 30
Options:
68019147597. 1
68019147598. 2
68019147599. 3

68019147600. 4

Question Number : 26 Question Id : 68019112071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The doctrine of 'utilitarianism' and the principle of the 'maximum happiness of the maximum
number of people’ 15 associated with which political philosopher.

. James Mill
IS Mall

. Jeremy Bentham
4. Aristotle

Options :

2 =

Laa

68019147601. 1
68019147602. 2
68019147603. 3

68019147604. 4

Question Number : 26 Question Id : 68019112071 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Y

SUUIRIATETE &1 fgid SR a9 73! W &1 9ad 991 9@ &1 Rgid g orifa®
Cr 3
CANIEEARES I G

1. o/ fid
2.5, 09, fid
3. ol sy

4. V&

Options :

68019147601. 1
68019147602. 2
68019147603. 3

68019147604. 4

Question Number : 27 Question Id : 68019112072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Gabriel Almond and Sidney Verba published which book in 1963 7

1. The Civic Culture

2. The Political Culture
3. The Civic Virtue

4. The Political Virtue

Options:

68019147605. 1
68019147606. 2
68019147607. 3

68019147608. 4

Question Number : 27 Question Id : 68019112072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Tfogd TaHs SR Rre- aal A 1963 T 19 Il Qa® Uab13d B

1. TR F&pid
2. oI TIpfd
3. MRS Tgu
4' \E

Options :

68019147605. 1
68019147606. 2
68019147607. 3

68019147608. 4

Question Number : 28 Question Id : 68019112073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who advanced the 1dea that advanced capitalist regimes are ruled by consent rather than by
coereion

1. Karl Marx
2. Lenin

3. Antonio Gramsct
4. Mao

Options :

68019147609. 1
68019147610. 2
68019147611.3

68019147612. 4

Question Number : 28 Question Id : 68019112073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



b 3 faaR ! 31 agral fd o Yuilare! R o GaRg ! & §uilg Jedfd 3
MY gl 82

1. PTel T
2. dfA

3, Tei=a1 gt
4. 7134

Options :

68019147609. 1
68019147610. 2
68019147611.3

68019147612. 4

Question Number : 29 Question Id : 68019112074 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to JThonston. a core strategic paradigm provides answer to the following questions:
(A). The role of war in International Relations

(B). The nature of the adversaries and the threats they pose

(C). The role of peace in International Relations

(D). The utility of force

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2.(A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019147613. 1
68019147614. 2
68019147615. 3

68019147616. 4

Question Number : 29 Question Id : 68019112074 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

SIReA & YR, U G U WioHH HRfciad w4l &1 3w el &l ¢
(A) SIIET Teel 1 g5 1 i
Wﬁﬂfﬁ%aﬁ? 3% R 3Td T

(-:) ] e o Tifd o] i

(D) 5

-itd fqu e fasedl & 9 95 SR |

1.9t (A). (B) 3R (D)
2.9T0 (4). (B) IR (€)

3.(A). (B). (C) 3R (D)
4.%dd (B), (C)&h? (D)
Options :

68019147613. 1
68019147614. 2
68019147615. 3

68019147616. 4

Question Number : 30 Question Id : 68019112075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The objective of the First Five Year Plan of India (1951-1956) was

(A). To raise the level of national income

(B). To get the country's economy out of the cycle of poverty

(C). To focus mainly on heavy industries

(D). To focus mainly on the agrarian sector including mvestment in dams and wrrigation

Choose the correct answer from the options given below:

1. (A). (B) and (C) only.

2. (A). (B) and (D) only.

3.(A). (B). (C) and (D).

4. (B). (C) and (D) only.
Options :

68019147617. 1
68019147618. 2
68019147619. 3

68019147620. 4



Question Number : 30 Question Id : 68019112075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR ® Igall Tgauig il (1951-1956) BT 32T UT

(A) BT 31T & TR DI Gl

(B) SX &1 fooae] &I TRId & I I a1gR [Harar

(C) T &Y Y YRI I W & higd BT

(D) Fiell 3R Ri=rg 9 v 9igd 527 9 3 Y &9 W & digd Al
- feu T fosedl & 9§ 95l SR A |

1. %ad (A). (B) 3R (C)
2.%dd (A). (B) 3R (D)
3. (A). (B). (C) 3R (D)

4.%ad (B), (C) 3R (D)

Options :

68019147617. 1
68019147618. 2
68019147619. 3
68019147620. 4

Question Number : 31 Question Id : 68019112076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Operation Flood was

(A). the rural development programme

(B). a dairy programme as a path to development
(C). a poverty allviation programme

(D). a rural employment guarantee scheme

Choose the correct answer from the options given below:

. (A). (B) and (D) only.
.(A). (B). (C) and (D).
. (A). (B) and (C) only.
4. (B). (C) and (D) only.

a =

Tad

Options :



68019147621. 1
68019147622. 2
68019147623. 3

68019147624. 4

Question Number : 31 Question Id : 68019112076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHTURH TS Ul

(A) TTHIUT [gH T HRIHH

(B) fa™ & AFT & ¥4 & U ST B H
(C) TRId! 3= SIUHH

(D) AHIUT AR RS AT

- feu e fdsedl & 9§ 9el SR I |

1. dd (A), (B) 3R (D)
- (A). (B). (C) 3R (D).

. &ad (A). (B) 3R (C)
4.%dd (B). (C) 3R (D)

Options :

2
3

68019147621. 1
68019147622. 2
68019147623. 3

68019147624. 4

Question Number : 32 Question Id : 68019112077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who was the founder-president of Bharatiya Jana Sangh?

1. Deen Dayal Upadhyaya

2. Shyama Prasad Mukherjee
3. C. Rajagopalachari

4. A K. Gopalan



Options :

68019147625. 1
68019147626. 2
68019147627. 3

68019147628. 4

Question Number : 32 Question Id : 68019112077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
YR T4 & HRITISD- & DI U7

1. 4 <419 IUTeA™

2. U] YHIE sl

3. 4t ISR
4. T, &, 9T

Options :

68019147625. 1
68019147626. 2
68019147627.3
68019147628. 4

Question Number : 33 Question Id : 68019112078 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST II

(Ideas/Associations/Individual,| |(Events/Principles/Contributions,
etc.) etc.)

Preservation of territorial integrity,
|A|Panchsheel I |sovereignty and economic
development

B|Bandung Conference I1 Erer prteaplesal gesceml

coexistence
C|Dalai Lama [II|Led to the establishment of NAM
India's Foreign Policy in the At Tibetan spiritual leader who
|period 1950-1964 crossed over to India

Choose the correct answer from the options given below:

(A)-(I). (B) - (IIT). (C) - (IV). (D) - (I)
(A) - (I). (B) - (ITD). (C) - (I). (D) - (IV)
(A)-(I). (B) - (II). (C) - (IV). (D) - (IIT)
(A) - (). (B) - (IV). (C) - (I). (D) - (II)

b =

e s

Options :

68019147629. 1
68019147630. 2
68019147631.3
68019147632. 4

Question Number : 33 Question Id : 68019112078 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! 11 i 11 F e wifore

a1 T I
TR e Rt e, o)
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n 1950-1964 1 S(af¥ H i (v foeadt Snenfds 3ar 9
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A feu e fosedl § 9 gl SuR I |

1. (A) - (ID). (B) - (II), (C) - (IV). (D) - (I)
2. (A) - (D). (B) - (111). (C) - (II), (D) - (IV)
3. (A) - (I). (B) - (IT). (C) - (IV). (D) - (III)
4.(A) - (II). (B) - (IV). (C) - (I). (D) - (1)

Options:

68019147629. 1
68019147630. 2
68019147631.3
68019147632. 4

Question Number : 34 Question Id : 68019112079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the main focus of different Five Year Plans in a chronological order:
(A). The focus of Planning on agrarian sector

(B). The focus of Planning on urban spaces

(C). The focus of Planning on heavy industries

(D). The focus of Planning on Liberalisation. Privatisation and Globalisation

Choose the correct answer trom the options given below:

1. (A). (B). (C). (D)
l (A). (C). (D). (B)
(B) (A). (D). (C)
4. (A). (C). (B). (D)



Options :

68019147633. 1
68019147634. 2
68019147635. 3
68019147636. 4

Question Number : 34 Question Id : 68019112079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[afir dgadila gIeA1sil & 9= Bied & SIarDid HH § Jad o
(A) TIGHT BT BIhE PIY &7 TR

(B) Uil &1 Bihd el RH 9

(C) Tl &1 Bieg HRI I 1=

(D) TSI &1 BT ISRIGRUL. Fo®H 0 AR IfHI0 )

- feu T foeedl § 9§ 951 SR A |

_(A). (B). (C). (D)
(A). (C). (D). (B)
.(B). (A). (D). (C)
_(A). (C). (B). (D)

|

N

Options :

68019147633. 1
68019147634. 2
68019147635. 3

68019147636. 4

Question Number : 35 Question Id : 68019112080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement 1s false about globalisation ?

1. Globalisation 1s free flow of goods, capital and labour
2. Inequality 1s inereasing due to globalisation

3. Equality 1s increasing due to globalisation

4. Globalisation will result in cultural homogensation



Options :

68019147637. 1
68019147638. 2
68019147639. 3
68019147640. 4

Question Number : 35 Question Id : 68019112080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3o & O § e d © 9 oF 9 $YH Tad 52

1. 3fiepRur axg i, goft ofik 4 &1 gad wars ©

2. 3B & HROT AT ¢ Y6l ©

3. 3B S HRUI GUFAT S 8l &

4, 34IPRU & URUIIRGEY RSPl Jelagdl sl

Options :

68019147637. 1
68019147638. 2
68019147639. 3
68019147640. 4

Question Number : 36 Question Id : 68019112081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

When Mizoram and Arunachal Pradesh became separate states?

1. 1987
2. 1978
3. 1960
4. 1972

Options :
68019147641. 1

68019147642. 2



68019147643. 3

68019147644. 4

Question Number : 36 Question Id : 68019112081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHSTRA 3R B0 WX 3 0 Hd §17

. 1987
. 1978
. 1960
4. 1972

Options :

|

L]

68019147641. 1
68019147642. 2
68019147643. 3

68019147644. 4

Question Number : 37 Question Id : 68019112082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is not an outcome of the disintegration of the USSR ?

1. End of the ideological war between the US and the USSR
2. End of the arms race between the US and the USSR

. Change in the balance of power in the world order

4. Crisis in Asia

g

Options :

68019147645. 1
68019147646. 2
68019147647. 3

68019147648. 4



Question Number : 37 Question Id : 68019112082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafarad | 9 o 91 wifagd ¥4 & fage &1 gk 781 82

1. 3R IR Fifdga 9 & a9 daIRS TG B 3d
2. AR 3R Gifdgd 99 & &9 efaRl &1 i &1 3id
3. fasy ooy © wifed SgeH d ulkadH
4. Ul § gde
Options :
68019147645. 1
68019147646. 2
68019147647. 3

68019147648. 4

Question Number : 38 Question Id : 68019112083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of these statements are correct regarding Maharaja Ranjit Singh
(A).He belong to Sukarchakiya clan

(B).He signed the Treaty of Amritsar (1809)

(C).Treaty of Amritsar (1809)was signed with the British East India compony
(D).He signed the Treaty of Sarkhej with the French East India Company
Choose the eorrect answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
_(A). (B). (C) and (D)
4. (B). (C) and (D) only.

Laa

Options :

68019147649. 1
68019147650. 2
68019147651. 3

68019147652. 4



Question Number : 38 Question Id : 68019112083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ERIS TSI [¥8 & 964 T 395 I &I 9 HY- T5l 62
(A)d gPEiepal oo d Hafd o
(B) S5 HTER Pl HiY (1809) R 5&&R fHU
(C) STTER FiY (1809) TR f6fcQ 3% 381 DU+l & Iy SIER fHu MU
(D) FI Wi ¥ Sf3a1 Ul & H1Y TR ] 48 R g&1aR [y
- feu e o el O 9§ 981 S 9|

1. %ad (A). (B) 3R (D)

2.%ad (A). (B) 3R (C)

3. (A). (B). (C) 3R (D)

4. %ad (B). (C) 3R (D)

Options :

68019147649. 1
68019147650. 2
68019147651. 3

68019147652. 4

Question Number : 39 Question Id : 68019112084 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Bombay Secretariat was designed by

1. H. 5t Clair Wilkins
2. EW.Stevens

. Watson

4. William S. Cohan

Options :

¥

68019147653. 1
68019147654. 2
68019147655. 3

68019147656. 4



Question Number : 39 Question Id : 68019112084 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a4 giaray ol U ESIERIGR IR K]

1. 09, de T
2. T%. &g, Kld
3. dreg-

F l_‘\

4. faferam 9. Sie

11,.' §)
:'.’I:

Options :

68019147653. 1
68019147654. 2
68019147655. 3

68019147656. 4

Question Number : 40 Question Id : 68019112085 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is a major agglomeration of population in the world?

1. North Asia
2. East Asia

3. Central Asia
4, West Asia

Options :

68019147657. 1
68019147658. 2
68019147659. 3

68019147660. 4

Question Number : 40 Question Id : 68019112085 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Frofafaa 8 S o wr fay & e &1 & WE 95 82

1. SR TR
2. gdl TR
3. HY Ui
4. 9igw Ui

Options :

68019147657. 1
68019147658. 2
68019147659. 3

68019147660. 4

Question Number : 41 Question Id : 68019112086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following 1s NOT a measure of population density ?

1. Anthmetic desnsity
2. Physiological density
3. Nutrition Density

4. Road Density

Options :

68019147661. 1
68019147662. 2
68019147663. 3
68019147664. 4

Question Number : 41 Question Id : 68019112086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafefad ¥ € &H-91 59 U-d &1 919 T8l 82

1
2. RIS ¥
3

4. H5P Y-dcd
Options :
68019147661. 1
68019147662. 2
68019147663. 3

68019147664. 4

Question Number : 42 Question Id : 68019112087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify correct statements with reference to climate of India.

(A). The Tropic of Capricorn divides India into temperate and tropical climate regions.
(B). Variability of rainfall in more m Rajasthan as compared to Odisha.

(C). Northeast Monsoon season brings 60 percent of the annual precipitation.

(D). Mango showers are pre-monsoon showers.

Choose the correct answer from the options given below:

1. (A) and (C) only.
2. (A). (B) and (C) only.
3.(B) and (D) only
4. (B). (C) and (D) only.

— — — a—

Options :

68019147665. 1
68019147666. 2
68019147667. 3

68019147668. 4

Question Number : 42 Question Id : 68019112087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

YRA B ear] & Yo 8 gl SU-l &1 ggaH Bl
(A) HER TGN 4R BT LT IR Surmsfeddig &t 7 fgurfora st 8
(B) AITSRI B Qa1 & I & a8 &1 ot i g |
(C) GaIR Y 1 1Y aifie aui &7 60 Hic=rd are g
(D) 315 a8 A9 ¥ Ugd $1 a8k g
- f&u U faeedl § O 95! SR A |
1. (A) 3R (C) Paal
2. (A). (B) 3R (C) Padl|
3.(B) iR (D) ad
4.(B). (C) 3R (D) baql

Options :

68019147665. 1
68019147666. 2
68019147667. 3

68019147668. 4

Question Number : 43 Question Id : 68019112088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-------------- propounded the concept of 'rurban community’.

1. ].C Hudson
2. K.H. Stone
3. C.J. Galpin
4. A. Meitzen

Options :

68019147669. 1
68019147670. 2
68019147671. 3

68019147672. 4

Question Number : 43 Question Id : 68019112088 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

............. = Y- T S DI HAYRUN DT Uidurg faar

1. 9. 9. g9
2. . T X

3. 9t o, TifeH
4. 0. HiwlH

Options:

68019147669. 1
68019147670. 2
68019147671.3

68019147672. 4

Question Number : 44 Question Id : 68019112089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term development is characteristic of the following:
A, Multidimensional Concept

B. Unidimensional Concept

C. Qualitative Change

D. Quantitative Change

. (A). (B) and (D) only.
. (A). (B) and (C) only.
. (A). (B). (C) and (D).
4. (A). (C) and (D) only.

o b —

Options :

68019147673. 1
68019147674. 2
68019147675. 3

68019147676. 4

Question Number : 44 Question Id : 68019112089 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

49 & 9 9oy Weg &1 fa<iwar &
A. SgATITHT YR

B. Udh-HTATH] SfaeRun

C. UMHS TR

D. HETES Rad-

.(A). (B) 3R (D) Had|
- (A). (B) 8RR (C) Sddl|
_(A). (B). (C) 3R (D)

4. (A). (C) 3R (D) Dad |

Options :

fag b —

68019147673. 1
68019147674. 2
68019147675. 3
68019147676. 4

Question Number : 45 Question Id : 68019112090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Wame of the countrv]Length of borders (in kms)
A_ [China I [1751
B. |Pakistan IT. |3488
C. |Nepal IT. |699
D. |Bhutan IV |3323

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (I). (C) - (III). (D) - (IV)
2. (A) - (IT). (B) - (IV). (C) - (). (D) - (IIT)
(A) - (D). (B) - (II). (C) - (IV). (D) - (I1I)
- (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

e T

Options:

68019147677.1



68019147678. 2
68019147679. 3

68019147680. 4

Question Number : 45 Question Id : 68019112090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 ¥ e Sifu
SUHTAM  [HH1SH B wars (b, 1T )|
A |dF 1 [1751
B |ulided= 11 [3488
C |4urE 111 |699
D |4eH IV |3323
i fqu Tu fasedl O O Tel SR I |
1. (A) - (1), (B) - (II), (C) - (III). (D) - (1V)

- (A) - (D). (B) - (IV). (C) - (I). (D) - (IIT)
(A) - (). (B) - (II). (C) - (IV). (D) - (I1I)
. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

e s

Options:

68019147677. 1
68019147678. 2
68019147679. 3

68019147680. 4

Question Number : 46 Question Id : 68019112091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Arrange the regions of world in descending order on the basis of their area.
(A). North America

(B). Africa

(C). Asia

(D). Australia

Choose the correct answer from the options given below:

1. (C). (A). (B). (D)
2.(C).(B). (A). (D)
3.(B). (A). (D). (C)
4. (C). (D). (B), (A)

Options :

68019147681. 1
68019147682. 2
68019147683. 3
68019147684. 4

Question Number : 46 Question Id : 68019112091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT D &1 Bl 31 &Ahd & HUR IR HARIG] hH T Tafeyd Hi |
(A) TRI 3ERDT

(B) 3ShIdI

(C) TRmET

(D) Sifecfermn

< feu e fae el & 9 Il 3 |

1. (C), (A). (B). (D)
2.(C). (B). (A). (D)
3.(B). (A). (D). (C)
4. (C). (D). (B). (A)

Options :

68019147681. 1
68019147682. 2
68019147683. 3
68019147684. 4



Question Number : 47 Question Id : 68019112092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shifting cultivation 1s known as Ladang i -=-=n=mnm--- .

1. North East India

2. Kalahari region

3. Patagonia plateau region
4. Indonesia and Malaysia

Options :

68019147685. 1
68019147686. 2
68019147687. 3

68019147688. 4

Question Number : 47 Question Id : 68019112092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
RUTATALO] A B wenmmmmeeee T AR P &Y H SHT AT B

Options :

68019147685. 1
68019147686. 2
68019147687. 3
68019147688. 4

Question Number : 48 Question Id : 68019112093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which one of the following is not a pull factor of migration?

1. Better Job Opportunities

2. Medical and Educational Facilities
3. Water Scarcity

4. Peace and Stability

Options :

68019147689. 1
68019147690. 2
68019147691. 3
68019147692. 4

Question Number : 48 Question Id : 68019112093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

frafefad 5 @ & 91 Ua" &1 3U6Y SRS Tl o7

1. §E0R ISR & AR
2. Ffepea 3iR Qg glaum
3. I BT
4. Tifq 3R fRRar
Options :
68019147689. 1
68019147690. 2
68019147691. 3

68019147692. 4

Question Number : 49 Question Id : 68019112094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Age-sex pyramid of -----m--mmm- 1s triangular shaped.

. Japan

. Australia
. Nigeria
4. Norway

|

L]

Options :

68019147693. 1
68019147694. 2
68019147695. 3

68019147696. 4

Question Number : 49 Question Id : 68019112094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

............ P S1g-feT foRIfrs, FAs Iy SR 13|

fad -Jd =
%

Options :

68019147693. 1
68019147694. 2
68019147695. 3
68019147696. 4

Question Number : 50 Question Id : 68019112095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The concept of human development was introduced by -==-neammm-- :

1. Griffith Taylor
2. Gilbert White
3. Adam Smith

4. Mahbub-ul-Hagq

Options :

68019147697. 1
68019147698. 2
68019147699. 3

68019147700. 4

Question Number : 50 Question Id : 68019112095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hd (B B AAYRO T lemmmmmeee &R W& fepar mar o1

1. Fpy eeR

2. fiiead ®15¢
3. usq [y

4, Hedg-u0l-69P

Options:

68019147697. 1
68019147698. 2
68019147699. 3

68019147700. 4

Question Number : 51 Question Id : 68019112096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following areas in USA has lost its ground as a leading producer of iron and
steel industry?

1. Cleveland

2. Pittsburgh

3. Chicago

4. Lorain
Options :
68019147701. 1
68019147702. 2
68019147703. 3

68019147704. 4

Question Number : 51 Question Id : 68019112096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g ey smReT B Fafaiad 3§ 9 g &7 7 digT R 38rd 39 & st Sares &
U H O H G e g

1. Feltaals

2. fuewar

3. FRrmm

4, ARA

Options :

68019147701. 1
68019147702. 2
68019147703. 3

68019147704. 4

Question Number : 52 Question Id : 68019112097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



------------ has the largest tea cropped area of India.

1. West Bengal
2. Kerala
3. Assam
4. Himachal Pradesh

Options :

68019147705. 1
68019147706. 2
68019147707. 3

68019147708. 4

Question Number : 52 Question Id : 68019112097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

........... T URd &1 Gad 3iRIe 91 $l PO BT & 5|

Options :

68019147705. 1
68019147706. 2
68019147707. 3
68019147708. 4

Question Number : 53 Question Id : 68019112098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST IT
Secured payable on the expiry of the specific
A I .
Debentures period

a charge 1s created on the assets of the
II. |company for the purpose of pavment 1
case of default.

B Unsecured
" |Debentures

s

C Perpetual I do not have a specific charge on the
" |Debentures " |aszets of the company.
the company does not give any
Fedeemable - pat; = -}
D. IV |undertaking for the repayment of such
Debentures 5 -

debentures.

Choose the correct answer from the options given below:

. (A) - (1), (B) - (1), (C) - (II1), (D) - (IV)
(A) - (II). (B) - (IIT). (C) - (IV). (D) - (I)
(A) - (I). (B) - (ID). (C) - (IV). (D) - (III)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

b

L)

Options :

68019147709. 1
68019147710. 2
68019147711. 3

68019147712. 4

Question Number : 53 Question Id : 68019112098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! 11 i 11 F e wifore

Sl g I
A |fEmwomE | 1 %%@fgaﬂwﬁmmm
HGRE 9@ & JH0 5 YdH & 3684 4 ST
5- I3 = @1 gfgual W Yo Tl Sidi g |
o R . E@;ﬁ;ﬁmﬁﬁrmﬁﬁmnm
2 i e
_ | v, | U B! & gAaH & g
D. |ufdeg Horga | IV. o T 2 A
A feu e fosedl § 9 gl SuR I |

1. (A) - (I). (B) - (II). (C) - (IT). (D) - (IV)
2. (A) - (IT). (B) - (TII). (C) - (IV). (D) - (I)
3.(A)-({@). (B) - (I). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019147709. 1
68019147710. 2
68019147711. 3

68019147712. 4

Question Number : 54 Question Id : 68019112099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Balance sheet provides information about financial position of a company ..............

. At a point of time

. Over a period of time of three months
. For a period of time of six months

4. For a period of time of nine months

| S

L% ]

Options:

68019147713. 1
68019147714. 2
68019147715.3

68019147716. 4



Question Number : 54 Question Id : 68019112099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qaY= ol Bl fawig RUfd & aR § TSR UaH ddl g |

1. TP IO R

2. dF HeH @I 3aiy o

3. e HolH &1 3(afY & ey
4. AR &1 3afy & o

Options:

68019147713.1
68019147714. 2
68019147715. 3
68019147716. 4

Question Number : 55 Question Id : 68019112100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Debenture holders are the of a company

1. Owner
2. debtor
. Creditors
4. Director

L]

Options:

68019147717. 1
68019147718. 2
68019147719. 3
68019147720. 4

Question Number : 55 Question Id : 68019112100 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BUUH YRS (G I & gid gl

1. Hifei®
2. POIGR
3. THER
4. e

Options :

68019147717. 1
68019147718. 2
68019147719. 3

68019147720. 4

Question Number : 56 Question Id : 68019112101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

At the time of admission of a new partner, General reserve appearing in the old balance sheet 15
transterred to:

1. All partner's capital account
2. New partner's capital account
3. Old partner's capital account
4. Old Partner's current account

Options :

68019147721. 1
68019147722. 2
68019147723.3
68019147724. 4

Question Number : 56 Question Id : 68019112101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U9 U GRIER & Yo% & 99, R eod 2ie § s o ard 9 Red & RiFiaig
o Tet &:

1. 94! GreieRl & doil @rd #
2, T AR & Yol @ &

3. R IEHER & Yol @id §
4, I3 WEER & I @1d §

Options :

68019147721. 1
68019147722. 2
68019147723.3
68019147724. 4

Question Number : 57 Question Id : 68019112102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Profit for the following years are given.

2013 4.00,000
2014 3.98,000
2015 4.50,000
2016 4.45,000
2017 5.00,000
calculate goodwill of the firm on the basis of four year purchase of 5 year average profits.

1.17.54,400

2. 18.50,500

3.17.44.400

4.19.54,000
Options :

68019147725. 1
68019147726. 2
68019147727. 3
68019147728. 4

Question Number : 57 Question Id : 68019112102 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad auf & o fRu e g
2013 4.00.000
2014 3.98.000
2015 450,000
2016 4.45.000
2017 5.00.000

5 T & S TTH D! IR I1d DI WiIG & YR W HH Bt IRG B 0T B

1.17.54.400
2. 18.50,500
3.17.44.400
4. 19.54,000

Options :

68019147725. 1
68019147726. 2
68019147727.3

68019147728. 4

Question Number : 58 Question Id : 68019112103 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which ratio gives us the 1dea about the value of their holding and affects market price of the
shares?

1. Return on shareholder's fund
2. Earning per share

3. Book value per share

4. Price to Earning ratio

Options:

68019147729. 1
68019147730. 2
68019147731.3

68019147732. 4

Question Number : 58 Question Id : 68019112103 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B 1 I §F 31 BifesT & Hed & aR H WHER! &d1 € AR Rl & SR Jed &1
qUTfId BT 82

1. VYRS [FY R ufdwd
2. Ui T 3

3. 7 TR g 4]
4. DI 3R 319 BT U

Options :

68019147729. 1
68019147730. 2
68019147731.3
68019147732. 4

Question Number : 59 Question Id : 68019112104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are incorrect?

(A).Return to scale 1s a long run concept

(B).Law of variable proportion 1s concerned only with long run concept.
(C).There 1z only Constant return to scale in the Return to scale concept.
(D).All the inpur factors are variable in law of variable proportion.

Choose the correet answer from the options given below:

. (A). (B) and (D) only.
. (A). (B) and (C) only.
_(A). (B). (C) and (D).
4. (B). (C) and (D) only.

| B

Tad

Options :

68019147733. 1
68019147734. 2
68019147735.3

68019147736. 4



Question Number : 59 Question Id : 68019112104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Faffad 5 9 3H 3 $YF Tad 8

(A) TOH IR AT U idaTiora SauRoN 3

(B) URGA-IT SUTd & -1 Had arddlicis SauRu g Jeiid g
(C) THH IR AT BT 3ayRON H Had AR W AR ol gt 7
(D) IRacHG 91d & faa & 9uff siiafve R aRad-1a g

- fau e o el O 9§ 981 SR I |

1. %ad (A). (B) 3R (D)
2.%ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)

4. %ad (B). (C) 3R (D)

Options :

68019147733. 1
68019147734. 2
68019147735. 3
68019147736. 4

Question Number : 60 Question Id : 68019112105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

As per the Cobb-Douglas Production function, which of the following represents Increasing
return to scale?

1

~

r..ulq!—*
QQQQ

1
<1
=0

mmm—m

4. oy
Options :

68019147737. 1
68019147738. 2
68019147739.3

68019147740. 4



Question Number : 60 Question Id : 68019112105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PI9-SITAY UISHH BaRH & 8K, HafaRad § ¥ o 1 S aduH Hiawad 31
EINEIPG LG,

SRS i
2 R R =
2
E
i

Options:

68019147737. 1
68019147738. 2
68019147739.3
68019147740. 4

Question Number : 61 Question Id : 68019112106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the most commonly used measure of money supply?

1. M1

2. M2

3. M3

4. M4
Options :
68019147741. 1
68019147742. 2
68019147743.3

68019147744. 4

Question Number : 61 Question Id : 68019112106 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafaiad d 9 o1 91 ga1 $igfd &1 9ad siite SuanT [l 9 arel SUr 82

1. M1
2. M2
3. M3
4. M4

Options :

68019147741.1
68019147742. 2
68019147743. 3
68019147744. 4

Question Number : 62 Question Id : 68019112107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a prineiple given by Henri fayol?

1. Unity of command

2. Unity of Direction

3. Subordination of individual interest to general interest
4. Harmony. Not discord

Options :

68019147745. 1
68019147746. 2
68019147747. 3

68019147748. 4

Question Number : 62 Question Id : 68019112107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafafad o 9 o 91 7RI i gRI fear a1 R 78l 82

1. 31 DI Uhal

2. fe=n &t wear

3. SfaaTrd fed o1 9rar= fed & ufa e
4. YIH, Bag Tol

Options :

68019147745. 1
68019147746. 2
68019147747. 3
68019147748. 4

Question Number : 63 Question Id : 68019112108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are related to the Grapevine Networks?
(A).Gossip Network

(B).Cluster Network

(C).Probability Network

(D).Wheel network

Choose the correcr answer trom the options given below:

.(B) and (D) only.

. (A). (B) and (C) only.
. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

I =

L]

Options:

68019147749. 1
68019147750. 2
68019147751.3

68019147752. 4

Question Number : 63 Question Id : 68019112108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



frafafad & 9 &9 91 duagd Jcas § 98fid 82
(A) TRY Heddh

(B) TR Acad

(C) GHTT

(D) @BId Heaeh

- feu e fdwenl O 9 9ol SR I |

1. %ad (B) 3R (D)
2.%ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)
4. %ad (B), (C) 3R (D)

Options:

68019147749. 1
68019147750. 2
68019147751. 3
68019147752. 4

Question Number : 64 Question Id : 68019112109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

National Stock Exchange (NSE) was established in which year?

. 1992
. 1996
. 2000

4. 1980
Options :

|

L]

68019147753. 1
68019147754. 2
68019147755. 3
68019147756. 4

Question Number : 64 Question Id : 68019112109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
R R TSl (U, T, §.) BT 19 [y gy g8 o

. 1992
. 1996
. 2000
4. 1980

Options :

fas 2 —

68019147753. 1
68019147754. 2
68019147755. 3

68019147756. 4

Question Number : 65 Question Id : 68019112110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Make In India scheme was launched in the year:

. 2016
. 2015
2014
4, 2013

Options :

faa bd —

68019147757.1
68019147758. 2
68019147759. 3

68019147760. 4

Question Number : 65 Question Id : 68019112110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



0% 34 Sfear gor 39 ay | Y= ol 1Tg of:

. 2016
2015
2014
4. 2013

Options:

I =

L]

68019147757. 1
68019147758. 2
68019147759. 3
68019147760. 4

Question Number : 66 Question Id : 68019112111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the examples of commercial food service establishments, from the following.
(A).Mobile catering

(B). Catering for seminars. workshops

(C). Creches

(D). Chain of catering organisations

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3.(A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019147761. 1
68019147762. 2
68019147763. 3

68019147764. 4

Question Number : 66 Question Id : 68019112111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



frafafad 5 9§ aiftisus @ 991 wiayHi & 3160l &1 9gaH o1 |
(A) URGg YIS UgY
(B) AR, Srdemarsii & forg @qam
() Ry we
(D) WU SRS & TS Bl g@al
- feu U f[d@ el O 9§ 981 SR I |
1. %ad (A), (B) 3R (D)
2.%ad (A), (B) 3R (O)

3. (A). (B), (C) 3R (D)
4. %FFd (B). (C) 3R (D)

Options :

68019147761. 1
68019147762. 2
68019147763. 3
68019147764. 4

Question Number : 67 Question Id : 68019112112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps involved in the Nutritional Care process during illness in correct sequence.
(A). Assessing nutritional status

(B). Diagnosis of nutritional problems

(C). Evaluating nutritional care outcomes and making changes. if necessary

(D). Planning and prioritising nutrition interventions(s) to meet nutritional needs

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2.(A). (B). (D). (C).
3.(B). (A). (D). (C).
4.(C). (B). (D), (A).

Options:

68019147765. 1
68019147766. 2
68019147767.3

68019147768. 4



Question Number : 67 Question Id : 68019112112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR & SR U dRauTe Tifafiat & 2nfie 9Rull o §e! od § oaiyd &3

(@) | 9T b FRUfd BT 3HherT BT

(&l | U et o &1 e

() | G ST URUTHT &1 Hedic DR 3R AfG SHaRad gl dl URacH Bl

(3N | OIS Gaieft SaRgparsil o1 Q1 B & o0 UIyu Fael SRial I gror S 3R
G g BT

Tl feu U fodedi & 9 9t SR T

Options :

68019147765. 1
68019147766. 2
68019147767. 3
68019147768. 4

Question Number : 68 Question Id : 68019112113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which psychologist and educator had outlined the great need that children have for a concerned.
caring and knowledgeable adult?

1. Lev Vygotsky
2. Erik Enikson

3. Sigmund Freud
4. Jean Piaget

Options :

68019147769. 1
68019147770. 2
68019147771. 3

68019147772. 4



Question Number : 68 Question Id : 68019112113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

for g TtdyTA® oIk e = o=l @t Ue Yafd, SEHTd 3 ad IR THGR a0 Bt
go! TSl Bl W@ifdd fdbar U

1. 9d G
2. URS UagH
3. RS g
4. 514 ol

Options:

68019147769. 1
68019147770. 2
68019147771. 3
68019147772. 4

Question Number : 69 Question Id : 68019112114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LIST II
(Fabric defects) (Faults)
A |Kink I |Dyeng fault
B |Slub II |Finishing fault
C |Shaded III [Weaving fault
D |Chafe IV |Yarn fault

Choose the correct answer from the options given below:

(A) - (D). (B) - (II). (C) - (IIT). (D) - (IV)
. (A) - (). (B) - (IIT). (C) - (IT). (D) - (IV)
- (A) - (D). (B) - (D). (C) - (IV). (D) - (I1I)
. (A) - (III). (B) - (IV). (C) - (1). (D) - (II)

fad b2 —

i

Options:

68019147773. 1



68019147774. 2
68019147775. 3

68019147776. 4

Question Number : 69 Question Id : 68019112114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 151 gt 11 ¥ [HaE $iforn
=1 =
(@US & &) @)

=

férep( T ) I wé%ﬁ?mi
e (i 5| I (o= & g
BTG 111 |§-1E & &9
el IV |47 & &Y
- feu e fas el O 9§ 981 S I |
(4) - @. (B) - (I). (©) - (1. (D) - (IV)
(A) - (I). (B) - (I1I). (C) - (I1), (D) - (IV))

(A)- (D). (B) - I). (C) - (IV). (D) - (III)
(A) - (). (B) - (IV). (C) - (I). (D) - (II)

ol RN Rl

fagd b2 —

iy

Options :

68019147773. 1
68019147774. 2
68019147775. 3

68019147776. 4

Question Number : 70 Question Id : 68019112115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the steps involved m Guest Cycle in order of their implementation.
(A). Departure

(B). Arrival stage

(C). Occupancy

(D). Pre-arrival stage

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (D), (B). (C). (A).
3.(B). (A). (D). (C).
4. (C). (B), (D), (A).

Options :

68019147777. 1
68019147778. 2
68019147779. 3
68019147780. 4

Question Number : 70 Question Id : 68019112115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hfafd 9w & Ifie =Rl &1 396 H1a-ad- & $HH & oIdiedd e
(A) T=IH
(B) ST TR0T
(C) SHTTHTT
(D) SFTHH d =Rl
- f3U T fasedl & O el SR IH|
1. (A), (B). (C). (D)
2. (D). (B). (C). (A)
3. (B). (A). (D). (C)
4.(C). (B). (D). (A)

Options :

68019147777. 1
68019147778. 2
68019147779. 3

68019147780. 4



Question Number : 71 Question Id : 68019112116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 18 NOT an example of interactive media?

1. Gyan TV
2. Internet

3. Telephone
4. e-mail

Options:

68019147781. 1
68019147782. 2
68019147783.3

68019147784. 4

Question Number : 71 Question Id : 68019112116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frgfefaa o S o 91 3 [ aeTe T9R &7 35830 11 82

1. 9 ¢l
zéaﬁ‘c'
3. ¢
4. 304

Options :

68019147781. 1
68019147782. 2
68019147783. 3
68019147784. 4

Question Number : 72 Question Id : 68019112117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Identify the type of hospitality service establishment which offers rented accomodation
especially for sleeping and may not offer food and other services.

. Furnished camps
. Motel
. Lodge
4. Resort

I =

L]

Options :

68019147785. 1
68019147786. 2
68019147787.3

68019147788. 4

Question Number : 72 Question Id : 68019112117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e a1 Uid8H & SR DI UgdH B ol (928 &0 Fi- & {070 [0 &R 3119 UgH
Xl & AR HIoH 3R 3R JaTl U™ T81 X ol g
1. T
2. Hied
3,419
3, e

Options :

68019147785. 1
68019147786. 2
68019147787. 3

68019147788. 4

Question Number : 73 Question Id : 68019112118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which year was the first Indian satellite (EDUSAT) built exlusively to serve the educational
sector?

1. 2001
2. 2005
L2002
4.2004

Options :

L)

68019147789. 1
68019147790. 2
68019147791. 3
68019147792. 4

Question Number : 73 Question Id : 68019112118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fR1&fT &= &1 Ja1 & oy uge YR 3uds (Uge) favg oy &= mr mar um

2001
. 2005
2002
4.2004

Options :

|

L]

68019147789. 1
68019147790. 2
68019147791. 3

68019147792. 4

Question Number : 74 Question Id : 68019112119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Identify the way through which Mrs Y can create rhythm in her dress.

1. By using contrasting colours

2. By putting gathers in waist. yolk or cuffs
3. By using different unusual shapes and lines
4. By using different textures

Options :

68019147793. 1
68019147794. 2
68019147795. 3

68019147796. 4

Question Number : 74 Question Id : 68019112119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il ars 5T avg ¥ 39t Ui & @9 o1 9dd! 6. 39%! YgaH B

1. fausia 31 &1 3ugl B

2. DHR, AT YT DB H TAC SIADR

3. Tolir S/ mEFg I gl SR Ka13f &1 S9N Hd
4. faf¥= g1l &1 SUaRT Hdh

Options :

68019147793. 1
68019147794. 2
68019147795. 3

68019147796. 4

Question Number : 75 Question Id : 68019112120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following type of disability 1s characterised by difficulties of movement, posture.
speech. hand functions ete. due to brain damage?

1. Locomotor disability
2. Cercbral Palsy

3. Autism

4. Learning disability

Options :

68019147797. 1
68019147798. 2
68019147799. 3

68019147800. 4

Question Number : 75 Question Id : 68019112120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafad o 9 o yeR ot [dhaid & & Ao &fd & SR ga- b, 3,
TS, §14 & DTl 311G B Die1a1 32

1. AP HIeR &Hdl
2. YRS U

3, Wl

4, ENTH el

Options :

68019147797.1
68019147798. 2
68019147799. 3

68019147800. 4



